
A witch's meal

There  are 4  witches at the meal.

They eat fungus, spiders, lizard's tails and little girl's eyes.

There are 10 little girl's eyes.
Each witch eat 1 little girl's eyes.
How many little girl's eyes don't eat the witches ?

Each witch eats 3 lizard's tails.
How many lizard's tails eat the witches ?

Solution :

10 – 4 = 6    ten minus for equals  six
The witches don't eat 6 little girl's eyes.

3 x 4 = 12   three    times     four    equals   12
The witches eat 12 lizard's tails.


